
 

 

 Ans. block is in equilibrium, F = 172.6 N         25◦    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans. (a) P = 18.1 N, (b) P = 14.3 N    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans.  θ = 53.3◦    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans. (a) P = 353 N, (b) P = 196.2 N    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans.  P = 441 N 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans.  P = 986 kN 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans.  (a) s = 0.238, P = 218 N 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans.  (a) TA= 42.0 N, TB= 98.0 N, (b) k  = 0.27  


